DELHI PUBLIC SCHOOL, BHILAI

DATE : 14.03.2022 ANNUAL EXAMINATION 2021-22 Time : 3 Hrs.
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General Instructions :
» Question paper comprises 3 sections — A, B, and C. There 35 questions in the question paper. All
questions are compulsory.
Section A is History and Civics of 40 marks.
Section B is Geography of 20 marks.
Section C is Economics of 20 marks.
> Objective type questions should be answered as directed.
» Answer to 3 marks question should not exceed 80 words each.
>  Answer to 5 marks question should not exceed 120 words each.
» Source based questions should be answered as directed.
» Map work should be done as directed in question.

........................................................................................................................................................................................

SECTION — A HISTORY & CIVICS (40 MARKS)

Q.01 How can you say that the ‘Liberals’ were not ‘democrats’? (1)
Q.02 The Second World War started when Germany invaded .......c.ccouee.s y (1)

(a) Spain (b) Denmark {c) Poland  (d) Russia

Identify the hat that the Soviet soldier is wearing in the above picture, introduced as a part of

Q.03
army uniform after the Bolshevik Revolution. (1)
(a) Ushanka (b) Cossack (c) Budenovka (d) None of these
Q.04 The world’s biggest stock exchange located in the USAiS ......ccocviriucirnnne . (1)
Q.05 Correct the following statement and rewrite :
The Lok Sabha is the Council of States and the Rajya Sabha is the House of People. (1)
OR

The Prime Minister is the head of the State and the President is the head of the govérnm’ent.

Q.06 The minimum age to become a candidate for the Lok Sabha or the Vidhan Sabha election in
INdia is oeeeerenreeenes ) (1)
Q.07 The Mandal Commission was headed by ...............
(a) Devi Lal (b) V.P.Singh (c) B.P. Mandal  (d) None of these (1)
OR
The leader of the Janta Dal who implemented the Mandal Commission report was ........
(a) Devi Lal (b) V.P. Singh (c) B.P.Mandal  (d) None of these
Q.08 ............. was the slogan given by the Janta Party in the Lok Sabha election held in 1977. (1)
OR
Who appoints the Chief Election Commissioner of India?
Q.09 What were the demands of Lenin’s ‘April Theses'? (3)
' OR
What were the differences between the Bolshevik and the Menshevik groups?
Q.10 Read the sources given below and answer the questions that follow : {3)

Source A : The Second World War
Japan was expanding its power in the east. It had occupied French Indo-China and was
planning attacks on US naval bases in the Pacific. When Japan extended its support to Hitler
and bombed the US base at Pearl Harbor, the US entered the Second World War.
Contd...2



——

wan
Source B : The Destruction of Democracy
On 30 January 1933, President Hindenburg offered the chancellorship, the highest position
in the cabinet of ministers to Hitler. Having acquired power, Hitler set out to dismantle the
structures of democratic rule. A mysterious fire that broke out in the German Parliament
building in February facilitated his move. The Fire Decree of 28 February 1933 indefinitely

suspended civic rights like freedom of speech, press and assembly that had been guaranteed
by the Weimar Constitution.

Source C : Anti-Semitism in the Nazi Germany
Jews remained the worst sufferers in the Nazi Germany. Nazi hatred of Jews had a precursor
in the traditional Christian hostility towards Jews. They had been stereotyped as killer of
Christ and usurers. Until medieval times Jews were barred from owning land. They survived
mainly through trade and money lending. They lived in separately marked areas called

ghettos. They were often persecuted through periodic organized violence, and expulsion
from the land.

Questions :

Q.11
Q.12

Q.13
Q.14

Q.15
Q.16

Q.17

Q.10.1. Source A : What was the main reason that led the USA to join the Second World War?

Q.10.2 Source B : What was the first major step adopted by Hitler to dismantle the structures of
democratic rule in Germany?

Q.10.3 Source C : Which was one of the main reasons for hatred against the Jews in the Nazi

Germany?
What were the main changes brought about by the Bolsheviks immediately after the October
Revolution? (Any three) (3)
What are the Model Code of Conduct for election campaigns in India? (Any three) (3)
Described the powers and functions of the Indian Parliament. (Any three) (3)
The Art of propaganda in the Nazi Germany was fairly responsible for establishing total control
of the state over its people. Explain. (5)

OR

How did the Nazis proceed to realise their murderous racial ideology by eliminating the
‘undesirable’? Explain.

Describe any five challenges to free and fair elections in India. (5)
Write any five powers of the Prime Minister of India. (5)
OR

Write any five powers of the President of India.

Two countries are marked as A and B on the outline map of the world given below. Identify
these countries and write their names in your answer script. (2)
: ! WORLDCPOUENL i T e s
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SECTION — B GEOGRAPHY (20 MARKS) |
Which state of India gets largest portion of it’s rainfall during the months of October and

November? (1)
{(a) Himachal Pradesh (b) Assam (c) Tamilnadu (d) Bihar
Violent thunder storms, which occur in the hot weather season are called ............... in W est
Bengal. (1)
(a) Loo (b) Kaal Baisakhi  (¢) Mango showers (D) Dust Storms
Which part of india experiences highest diurnal/daily range of temperature? (1)
(a) Thar Desert  (b) Western Ghats (c) Deccan Plateau (d) Northern Plains
Identify and name the forest type with the help of the given features. (1)
(a) These are the most wide spread forests of India.
(b) They are called Monsoon forests.
(c) They are found in regions receiving rainfall between 200cm and 70cm.
The Rann of Kachchh is the habitat of ................... . ; (1)
(a) elephants (b} yak (c) tigers (d) wild ass
OR
Which of the following medicinal plants is used to cure cough and cold?
(a) Jamun (b) Tulsi (c) Neem (d) Babul
What are the main causes for the depletion of quite a few species of plants and animals in India?
Write any 3 points. (1+1+1=3)
Read the text given below and answer the following questions.

The character and extent of vegetation are mainly determined by temperature along with
humidity in the air, precipitation and soil. The sandy soils of the desert support cactus and
thorny bushes while wet, marshy, deltaic soils support mangroves and deltaic vegetation.

On the slopes of the Himalayas and the hills of the Peninsula above the height of 915 meters
the fall in the temperature affects the type of vegetation and it’s growth and changes it from
tropical to sub tropical, temperate and alpine vegetation. Areas of heavy rainfall have more
dense vegetation as compared to other areas of less rainfall. The western slopes of the
Western Ghats are covered with thick forests and not the eastern slopes.

24.1. Cactus and thorny bushes are found in .....oeeoeennn... ; (1)
(a) dry, sandy soils (b) wet, marshy soils {c) alluvial soils (d) deltaic soils

24.2 Increase in altitude resultsin .................... (1)
(a) increase in temperature (b) decrease in temperature
(c) No change in temperature (d) None of the above

24.3 The western slopes of the Western Ghats have thick forests because ......... S (1)

(@) Western slopes lie on the leeward side.
(b) Western slopes receive heavy rainfall.
(c) Western slopes receive less rainfall.

(d) None of the above.

24.4 Alpine vegetation are found in which vegetation type? ' (1)
(a) Tropical Evergreen forests
(b) Tropical Deciduous forests
(c) Montane forests
(d) Mangrove forests

Discuss the mechanism of the monsoons (5 points) (1+1+1+1+1=5)
OR

Give an account of the weather conditions and characteristics of the cold weather season.
(5 points)

On the political outline map of India locate and label any three of the following:  (1+1+1=3)
(a) River Ganga (b) Chilika Lake (c) Wuler Lake

(d) Manas National Park (e) One area receiving less than 20cm of rainfall.
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SECTION — C ECONOMICS (20 MARKS)
Q.27 A person is making envelopes with the help of paper. In which sector should his activity be

included : ' (1)
(a) Primary Sector  (b) Secondary Sector (c) Tertiary Secter  (d) None of these
Q.28 What kind of people are a liability for the economy? (1)
- (a) Poor (b) Healthy (c) Elite (d) llliterate
Q.22 The question contains two statements, (1)

Assertion (A) and Reason (R). You have td select one of the four alternative.
Assertion (A) : Investment in human resource leads to low rate of return.
Reason (R) : Human Resource is a never ending resource.
(a) Both assertion (A) and reason (R) are true, and (R) is the correct explanation of Assertion (A).
(b) Both assertion (A) and reason (R) are true, and (R) is not the correct explanation of (A).
- (¢} Assertion (A) is true, but reason (R) is false.
(d) Assertion (A) is false, but reason (R) is true.

Q.30 Fill in the blank with appropriate answer : (1)
The work force population of india includes people in the age group of ................ .

Q.31 Who are the poorest of poor? (1)

Q.32 Read the case/source and answer the questions given below : (3)

A line, usually divides the population of the country as poor and non-poor. Accordingly,
people having income below poverty line are called poor and people with income above
poverty line are called non-poor. As per this measure, the number of people below poverty
line are called “Head Count Ratio”. While fixing a poverty line, we must take adequate care
so that the poverty line is neither too high nor too low. Rather it should be a reasonable
one.

(a) Which measure is discussed in the above Paragraph?

{b) What do you mean by “Head Count Ratio”?

(c) Give various measurements of Poverty line in India.

Q.33 What do you mean by Economic activity? Explain the two types of economic activities. (3)
| OR
What are the measures taken by the government to improve literacy condition in India?
Q.34 The below graph shows percentage of poor is different social group. (a survey report of NSSO).

(4)
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Answer the questions :
(a} Which group shows the minimum percentage of poverty?
(b) Categorise the groups in the graph into Socially vulnerable and Economically Vulnera blegroups?
(c) Write any one indicator of rural poverty.
(d) Suggest any two ways to reduce rural poverty.

Q.35 {a) Mention any two causes of poverty. (2+3=5)
(b) Explain any three Poverty Alleviation Program being implemented in India.
OR
(a) Define Poverty. (1+4=5)

(b) Mention the reasons of decline in Poverty ratio in the following states :
(a) Kerala (b) Punjab (c) West Bengal (d) Tamin Nadu
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DELHI PUBLIC SCHOOL, BHILAI

DATE : 16.03.2022 ANNUAL EXAMINATION 2021-22 - Time : 2 Hrs.
CLASS : IX SUBIECT — ARTIFICAL INTELLIGENCE Max. Marks : 50

NOTE : Ali the Questions are compulsory.

--------------------------------------------------------

SECTION A

Multiple Choice Questions 1x10=10
Q.01 Anentrepreneur ...

(a) enforces government regulations (b) take risk to earn profits

(c) sets the interest rates at bank {d) manages financial investments
Q.02 What is the advantages of Cooperatives ?

(a) income tax exemption (b) minimal government regulation

(c) short life spam (d) single ownership

Q.03 Aptitudes are

(a) learnt skills  (b) professional qualification (c) memory skills (d) Natural talent
Q.04 Human environment refers to the

(a) the natural surrounding of humans (b) the surrounding made by humans

(c) all the social institutions and organization (d)bothb &c
Q.05 An ecosystem is any community of living and non-living things that

(a) work together (b) interact with each other (c) are independent of each other (d) all of these
Q.06 All natural resources needs to be conserved because

(a) they will soon decay  (b) they will soon exhausted (c) they are very costly (d) none of these
Q.07 The current Artificial Neural Networks are part of

(a) strong Al system (b) weak Al system (c) general Al system (d) true Al system
Q.08 How many layers are required for constructing in Artificial Neural Networks ?
(a) zero (b) one (c) two (d) three

Q.09 On which of the following learning system are the ANN networks based depending on the feedback
received by them ?
(a) supervised learning (b) un supervised learning  (c} forced learning (d) reinforcement learning

Q.10 is a person who takes a risk to produce goods and services in search of profit.
(a) entrepreneur {b) employee (c) police (d) bureaucrat
SECTION B
Q.11 Find out errors in the following program lines (if any) & Write the correct line 1x5=5
1)  Print (“Hello World’)
2)  num=4

print (“l am” + num + “years old”)
3)  x=int ( input(“enter any number”))
y=x*6
print{y)
4) 21y =21E43
5)  List =[“apple” , “mango” , “orange”]
List.del(3):
Q.12 State True/ False 1x10=10
1)  The variable names are case sensitive in Python
-2} Listis an example of data structure.
3)  Python is capable of handling big data
4)  “/"is used as floor division operator
5)  C=d+21is an example of expression
6)  The adult brain is about 5% of total weight of body.
7)  The adult human weight is about 1.3 kg.
8)  The elephant brain is about 10 kg.
9)  An average human brain has about 86 billions neurons in it.
10), Each typical neuron has around 100 — 1000 synapses.

SECTION C
Q.13  Use Python Programming Language for following......... 4x4=16
1) Write a program which accept three number from user and add them.
2) Write a program to calculate the remainder, taking divisor and dividend as input from user.
3) Create a python list containing the following elements and display it on the screen.
Mangoes, Apples, Oranges, Grapes
4) Write a program to display multiplication table of any number entered by the user.

Q.14 What are some of the factors that causes imbalance in an ecosystem ? 3
Q.15 How is the human brain different from the Artificial Neuron Network models? 3
Q.16 ~What is idea behind the creation of Artificial Neural Network ? 3
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DELHI PUBLIC SCHOOL, BHILAI

DATE : 07.03.2022 ANNUAL EXAMINATION, 2021-22 i Time : 3 Hrs.
CLASS : IX SUBIJECT — ENGLISH LANGUAGE AND LITERATURE Max. Marks : 80

General Instructions : ,
Read the instructions carefully before answering the questions.

> The paper consists of 3 sections:
Section A — Reading : {20 Marks)
Section B — Writing and Grammar : (30 Marks)
Section C — Literature : (30 Marks)

» All questions are compulsory.

» Any section can be attempted at a time.

> All the questions of that particular section must be attempted in the correct order.

SECTION — A : READING (20 Marks)
1. Read the passage given below carefully and answer the questions that follow :

1. The Nobel Prize is a set of annual international awards bestowed in a number of categories by
Swedish and Norwegian committees in recognition of academic, cultural and/or scientific
advances. The will of the Swedish. inventor Alfred Nobel established the prizes in 18395. The
prizes in Chemistry, Literature, Peace, Physics and Physiology or Medicine were first awarded in
1901. The Nobel Memorial Prize in Economic Sciences was established by Sweden’s central bank
in 1968.

2. The Nobel Prize itself was made of a mixture of gold and silver with 24 carat or 4.8 g gold coating.
Between 1901 and 2015, the Nobel Prizes and the Prize in Economic Sciences were awarded
573 times to 900 people and organisations. With some receiving the Nobel Prize more than
once, this makes a total of 870 individuals (821 men and 49 women) and 23 organisations.

3. The prizes are awarded in Stockholm, Sweden, except for the peace prize, which is awarded in
Oslo, Norway. The Nobel Prize is widely regarded as the most prestigious award available in the
fields of Literature, Medicine, Physics, Chemistry, Peace and Economics.

4. The Royal Swedish Academy of Sciences awards the Nobel Prize in Physics, the Nobel Prize in
Chemistry and the Nobel Memorial Prize in Economics Sciences; the Nobel Assembly at
Karolinska Institute awards the Nobe! Prize in Physiology or Medicine; the Swedish Academy
grants the Nobel Prize in Literature; and the Nobel Peace Prize is awarded not by a Swedish
organization but by the Norwegian Nobel Committee.

5. Some of the Nobel Prize Winners from India are Rabindranath Tagore, Amartya Sen, CV Raman,
Mother Teresa, Kailash Satyarthi, etc.

LPRIZE
ONY
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Based on your understanding of the passage, answer the following guestions by choosing the correct
option. (1x8=08)
(i) The purpose of the above passage is to .......... .
(a) Familiarize the reader with Nobel Prizes.
(b) List the Nobel Prize Winners from India.
(c) Praise the Nobel Prize and Alfred Nobel.
(d) Inform the reader of how to win the Nobel Prize.
(i) Select the option that is true for the two statements given below:
(1) The Nobel Prize itself was made of a mixture of gold and silver with 24 carat or 4.8 mg gold coating.
(2) A total of 870 people and 23 organisations have won the Nobel Prize.
(a) (1)istrue, (2)is false (b) (1) is false, (2) is true
(c) (1)is false, (2) is false (d) (1) is true, (2) is true
(iii) In which year was the Nobel Prize established?
(a) 1895 (b} 1901 (c) 1968 (d) 2015
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(iv) According to the passage, the Nobel Prize is .........
(a) Awarded twice in a year.
(b) Awarded quadrennially.
(c) Awarded yearly.
(d) Awarded once in two years.

(v} Which of the following awards was established in 19687
(2) Nobel Prize for Chemistry (b) Nobel Prize for Peace
(c) Nobel Prize in Physiology (d) Nobel Memorial Prize in Economic Sciences

(vi) This passage suggests that only one Nobel Prize is awarded in Norway. Which is it?
(a) Nobel Prize for Medical Sciences (b) Nobel Prize for Economic Sciences
(c) Nobel Peace Prize {d) Nobel Prize for Literature

(vii) Accordingto the above passage, in which of the following fields is the Nobel Prize not awarded?
(a) Engineering  (b) Medical Sciences (c) Literature (d) Both (a) and (b)

(viii) Find an appropriate word in the above passage which means the same as “confer or present
an honour, right or gift”. (Para 1)

(a) memorial (b} bestowed (c) inventor (d) recognition
2. Read the passage given below carefully and answer the questions that follow:

1. Sportsmanship can be conceptualized as an enduring and relatively stable characteristic or
disposition such that individuals differ in the way they are generally expected to behave in sport
situations. In general, sportsmanship refers to virtues such as fairness, self-control, courage and
persistence and has been associated with interpersonal concepts of treating others and being
treated fairly, maintaining self-control in dealing with others and respect for both authority and
opponents. Sportsmanship is also looked at as being the way one reacts to 3 sport/game/player.

2. The four elements of sportsmanship are often shown as being in good form, the will to win, equity
and fairness. All four elements are critical and a balance must be found among all four for true
sportsmanship to be illustrated. These elements may also cause conflict, as a person may desire to
win more than play in equity and fairness and thus resulting in a clash within the aspects of
sportsmanship. This will cause problems as the person believes they are being a good sportsman,
but they are defeating the purpose of this idea as they are ignoring two key components of being
sportsman like. When athletes become too self-centred, the idea of sportsmanship is dismissed.
Today's sporting culture, in particular the base of elite sport, places great importance on the idea
of competition and winning and thus sportsmanship takes a back seat as a result. In most, if not all
Sports, sportsmen at the elite level make the standards on sportsmanship and no matter whether
they like it or not, they are seen as leaders and role models in society.

3. Since every sport is rule driven, the most common offence of bad sportsmanship is the act of
cheating or breaking the rules to gain an unfair advantage. A competitor who exhibits poor
sportsmanship after losing a game or contest is often called a ‘sore loser’, while a competitor who
exhibits poor sportsmanship after winning is typically called a ‘bad winner’. Sore loser behaviour
includes blaming others for the loss, not accepting responsibility for personal actions that
contributed to the defeat, reacting to the loss in an immature or improper fashion, making excuses
for the defeat, and citing unfavourable conditions or other petty issues as reasons for the defeat.
A bad winner acts in a shallow fashion after his or her victory, such as by gloating about his or her
win, rubbing the win in the face(s) of the opponent(s), and lowering the opponent(s)’s self-esteem
by constantly reminding the opponent(s) of ‘poor’ performance in comparison (even if the
opponent(s) competed well). Not showing respect to the other team is considered to be a bad
sportsmanship display and could lead to demoralizing effects.

A.  On the basis of your reading of the passage, answer the following questions in 30-40 words each. (2x4=08)
()  What are the four elements of sportsmanship? Is it necessary to strike a balance between all
the four elements of sportsmanship?
(i) What qualities do the ‘sore losers’ display after a game?
(ili) What does a bad winner do after the game?
(iv)  Why has sportsmanship taken a backseat today?
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B. Based on your understanding of the passage, answer the following questions by choosing the correct
option: ; (1x4=04)
(i) Select the option with the underlined words that can suitably replace ‘enduring’ (paragraph 1)
(a) The motions of most lizards are executed with great precision but not patiently suffer rapidity.
(b) These form a timely temporal monument to his fame.
(c) They are good hunters who are wonderfully cunning and long-standing.
(d} In this volume, you’ll discover the Linking Rings, one of magic’s most painfully bearable classics.

(ii) Select the option that suitably completes the dialogue with reference to the above passage.
Syed : Captain, their midfielder is very weak. We can target him and win the match.
Abhishek : ...........

(a) Yes, you are right he is very weak.

(b) No Syed, we are going to play a guileful game.
(c} No Syed, we are going to play a clean game.
(d) Yes, that is the only way we will win today.

(iii) Choose the option that best conveys the message in -‘every sport is rule driven’.
(a) All sports must have rules.
(b) All sports have to adhere to certain rules.
(c) All sports have to flout certain rules.
(d) All sports need not have set rules.

(iv) According to the above passage, select the option listing the qualities of a sportsman-
' (1) Respectful  (2) Fair  (3) Inciteful (4) Apprehensive (5) Tenacious

(@) 1and 2 (b) 2,3and 4 () 1,2and5 (d) 3,4and 5
SECTION - B : WRITING ANG GRAMMAR (30 Marks)
3. Write a descriptive paragraph in 100-120 words based on the visual clue given below. (08)

OR
Write a descriptive paragraph, in 100-120 words on Helen Keller based on the clues given below.

Hints : Helen Keller, though deaf and blind from childhood exceptionally talented — parents helped
her get education in good institutes — Anne Sullivan, her teacher, brought a revolutionary
change in her life — she learned the uses of Braille writing — Miss Sullivan helped her study
all the great literature of the world — know the wonders of the world — Helen had an
invincible will power and strong determination — she is a role model to all the blind and the
deaf people of the world.

4, Develop the following outline into an interesting story in 200-250 words. Also give a suitable title to
it. (10)
He looked with pride at what he had created — the robot — amazing feats — sudden
disorientation — technical defect — one human error — devastating impact.
' OR
Complete the story in 200-250 words which begins as the following :

“Whenever John goes to Uncle Sam’s house, he feels something different. He feels that
Harry, Uncle Sam’s son, has some supernatural powers. Whenever he is around...”
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5. Fill in the blanks by choosing the correct options for the sentences given below. (1x4=04)
(i) Because there have been ......... accidents at that road junction, the council are going to install
traffic lights there. '
(a) so many (b) too much (c) plenty {d) much more
(ii) If a store manager decides to take a shoplifter to court, the legal process ............... both  time-
consuming and expensive.
(@) havetobe (b) maybe {(c) need to be (d) aretobe
(iii) Clean snow ............ as much as 87 percent of the sunlight that shines on it.
(a) is reflecting (b) has reflected (c) was reflected (d) reflects
(iv] s bus we were travelling on stopped suddenly because a tree had fallen across the road.
(a) The (b) A (c) An (d) Those
6. Complete the dialogue between you and your teacher. The conversation revolves around a zoo.
(1x4=04)
Teacher = {I] sussmsmmanss ?
Student : We can see them in the zoo.
Teacher : (i) ocvevevirereenreeene ?
Student : Yes Sir, | have visited it in Chennai.
1=Tes T= R | 1] [ ———— ?
Student : 1visited it last year.
Teacher @ (iV) coovvrvrreercene ?

Student : 1visited it with my uncle.

() (a) Where could we see wild animals, other than in the wild?
(b) Where shall we see wild animals, other than in the wild?
(c) Where might we see wild animals, other than in the wild?
{(d) Where can we see wild animals, other than in the wild?

(ii) (a) Have you visited a zoo? (b) Did you visit a zoo?
(c) Had you visited a zoo? (d) Do you visit a zoo?
(i) (a) When do you visit the zoo? (b) When did you visit the zoo?
{c) When you visited the zoo? ~(d) When have you visited the zoo?
{iv) (a) With whom did you visit the zoo? (b) With whom had you visited the zoo?
(c) With whom have you visited the zoo? (d) With whom you visit the zoo?
7. Read the following conversation and complete the passage given below : {1x4=04)

Mahesh : Can you come to my house today?

Satish  : Sorry, Mahesh. | can’t make it today.

Mahesh : Do you have any other programme for the day?

Satish  : No, actually my Uncle is coming from Australia today and | need to go to the airport to
pick him up.

Mahesh asked Satish (i) ........ . Satish replied that (ii} ........ . Mahesh asked him (iii} .....oe.. . Satish
replied in the negative and added that (iv)......... and he needed to go to the airport to pick him up.

(i) (a) if he can come to his house today.
(b) if he could come to his house today.
(c) if he could come to his house that day.
(d} if he can come to his house that day.

(i) (a) he could not made it that day.
(b) he cannot make it thatday.
(c) he could not have made it today.
(d) he could not make it that day.

(iii) (a) if/ whether he had any other programme for the day.
“(b) if/whether he has any other programme for the day.
(c) if/whether he have any other programme for the day.
(d) if/whether he had some other programme for the day.

(iv) (a) his uncle had been coming from Australia that day.
(b) his uncle was coming from Australia that day.
(¢) his uncle have been coming from Australia today.
(d) his uncle was coming from Australia today.
Contd...5
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SECTION —C : LITERATURE (30 MARKS)
8. Read the extracts given below and answer the guestions that follow : (1x4=04)
No,
The root is to be pulled out —
Out of the anchoring earth;
It is to be roped, tied,
And pulled out-snapped out
Or pulled out entirely,
Out from the earth cave,
And the strength of the tree exposed
| The source, white and wet,
| The most sensitive, hidden
| For years inside the earth.
(i) How does the earth anchors the tree?
(a) The roots of the tree hold the soil firmly that the tree stands firm on the ground.
{b) The soil spreads around the trunk of the tree and keeps it standing steady.
(c) The tree is tied with ropes to the hooks fixed in the soil.
(d) The tree pushes itself inside the soil to get anchored.

(i) ‘The strength of the tree exposed’ conveys that —
(a) Roots of the tree are taken out of the earth (b) Branches are withered
{c) Trunks are withered (d) All of the above

(iii) In the above extract the word similar to ‘chopped’ is .......c........ .
(iv) Find a word in the extract to complete the following:
Entirely : Partially = e : Weakness.
OR
The snake trying

i to escape the pursuing stick,
! with sudden curvings of thin
| long body. How beautiful
: and graceful are his shapes!

He glides through the water away

from the stroke.
(i) The snake tried to escape -

; (a) Someone who was chasing it. (b) Children who were throwing stones at it.
| (c) The mongoose — chasing it. (d) The snake charmer who was trying to catch it.
(i) The snake in this poem is itself a —
(a) bad omen (b) victim (c) attacker  (d) none of these

(iii) In the above lines, the word similar to ‘elegant’is .....cc...... .
(iv) ‘the pursuing stick’ means ........ccconnen.
! 9. Answer any five of the following questlons in 30-40 words each : (2x5=10)
, (a) Montmorency, the dog, added to the excitement and confusion in packing. Justify.
; (b) Why did the narrator’s wife urge the curator to give Baba back to her? What did the curator do?
! (c) Inthe poem, ‘No Men are Foreign’, how do we harm ourselves when we hate our brothers? Explain.
(d} Atthe age of nine, what lesson had Maria Sharapova learnt?
i (e) In the lesson, “Weathering the Storm in Ersama’, ‘His heart went cold” when he reached his
village. Why?
(f) What kind of a friend was Sue to Johnsy? What qualities were displayed by her at the time of
Johnsy's iliness?
10. Answer any one of the following questions in 100-150 words. (08)
“If | chose a correct and a rational path, the others around me had to change, not me,” said Santosh
Yadav. How does her life justify her words?

OR

frustrated.” Does this statement holds good for the play, ‘If | Were You'?

11. Answer any one of the following questions in 100-150 words. (08)
In the lesson ‘A House is not a Home’, who all helped the author overcome the loneliness. How
does ‘the help’ change the author’s understanding of life and people as a result?

OR
“You can lead a horse to water, but you can’t make it drink”. Justify the proverb with reference to
the story ‘The Beggar'.

Frd Cad o DAYDRYDA™N

Gerrard says, “In most melodramas the villain is foolish enough to delay his killing long enough to be 1
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General Instructions:—
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Q.01
Q.02

Q.03

Q.04
Q.05

Q.06
Q.07

Q.08

Q.09

Q.10

Q.11

All guestions are compulsory.

There are three sections and total 30 guestions in the question paper.
In some questions internal choices are provided.

A student has to attempt any one question out of the given alternatives.

SECTION — A : PHYSICS (28 MARKS)

Write any two differences between ‘G’ and ‘g’. (2)
The figure given below shows the earth and the positions of some points related to earth. (2)

P L
? .
I
(a) At which point, out of M and P, the value of ‘g’ is higher?
(b) What is the value of ‘g’ at C?
(c) Write an expression for ‘g’, showing it's dependence on radius of heavy body.
What is the output power, in watt, of a 60 kg sprinter who accelerates from 0 to 10m/sin 3 sec? (2)
OR

In a house, 3 bulbs of 25 W each, an iron of 1000 W and refrigerator of 1500 W are used for 5 hrs. a
day. Calculate units of electricity consumed in the month of October.

Define negative work and give one example to explain it. (2)

If a planet existed whose mass is twice that of the earth and radius is 3/2 times of radius of the earth,

how much will 2 kg mass weigh on this planet? (2)
OR

A force of 1.5N is acting between two objects of same mass placed at a distance of 2m. Calculate the
mass of each body. (G = 6.67 X 107" Nm?kg™?).
What should be the change in velocity of a body to maintain same K.E. if it’ mass is increased 4 times.

Show with the help of mathematical steps. (2)
(a) Define average power.
(b) State any two situations of zero work with one example for each situation. (3)

(a) How will ‘G’ change with the change of distance between two objects? Justify your answer.
(b) A car falls-off a ledge and drops to the ground in 0.5 second.
(i) What will be it’s speed while striking the ground?

()How high is ledge from the ground? (g =10 m/s’%). (3)
Show that weight of object on moon is 1/6™ of it’s weight on surface of earth. (3)
OR

(a) Write the mathematical form of law of gravitation.

(b) Two masses miand maare separated by a distance r. If one of the two masses increases by 3 times
and distance between them becomes 1/4™" of initial value, how will force of gravitation change?
Explain mathematically.

(a) How does g vary from equator to pole? Explain with the help of a suitable diagram.

(b) Two quantities X and Y have quite different features. X’ is scalar while ‘Y" is vector. Y depends on ‘g’ but

X doesn’t depend on ‘g’; the value of Y can be 0 but X can never be zero. If one of these two quantities
is expressed in terms of ‘N’ then identify X and Y. Also write a relationship between X and Y. (3)

Read the following and answer the guestions given below: -

When a pendulum moves from it's mean position P to the extreme position A or B, it's height ‘h" above

the mean position P goes on increasing as shown in figure. As a result, kinetic energy decreases and P.E.

increases. Finally, at extreme position, P.E. becomes maximum and K.E. becomes zero. This observation

“is related to law of conservation of energy. This law also explains the energy transformation in case of

freely falling body.

B ‘}L’A
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(a) How does total mechanical energy of pendulum vary from mean position to extreme position? (1)
(b) State law of conservation of energy. (1)
(c) Draw a graph showing variation of P.E. with height in case of freely falling body. Also write expression
for P.E. ' @)
OR

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

Q.21

Q.22

Q.23

What are the factors affecting K.E.? Where is K.E. of pendulum maximum during it’s vibration? What
happens to K.E. of a freely falling body when it strikes the ground?

SECTION — B : CHEMISTRY (32 MARKS)

(a) Define atomicity. (2)
(b) State the law of constant proportion. '
(a) Define atomic mass. (2)
(b) Calculate formula unit mass of ZnO (atomic masses of Zinc=65u, Oxygen=16u).
Calculate the number of molecules of CO; present in 4.4g of CO.. (2)
OR
Convert into mole  (a) 20 g of water (b) 12 gof Oy
Write the electronic configurations and valency of (a) Sodium (b) Silicon (2)
OR
What is an octet? How do elements attain an octet?
What are isobars? Give one example. {2)
{a) Define mole.
(b) What are polyatomic ions? Give two examples. (3)
Write the chemical formulae of the following compounds. Name the cation & anion present in each
case. (3)
(a) Magnesium Chloride (b) Calcium Carbonate (c) Aluminium Sulphate
(a) Calculate the mass of 0.5 mole of N; gas. (3)
(b) If one mole of carbon atoms weighs 12 gram, What is the mass in gram of 1 atom of carbon?
OR

Find the ratio by number of atoms of the elements present in water molecule if the ratio of Hydrogen
& oxygen is 1:8 by mass.
The average atomic mass of a sample of an element X is 16.24. What are the percentages of isotopes

186 X and 188 Xin the sample ? (3)
(a) What are canal rays? (3)
(b) State any two drawbacks of Rutherford’s nuclear model of an atom.

OR
State three conclusions made by Rutherford in his & — scattering experiment.
(a) If Z=6, what would be the valency of the element? Also, name the element. (3)
(b) Draw a sketch of Bohr’s model of an atom with atomic number 12.
Read the following and answer the questions given below : (1x4=4)

The atomic number is the number of protons found in the nucleus of every atom of that element. The
atomic number uniquely identifies a chemical element. It is identical to the charge number of the
nucleus. The sum of atomic number and the number of neutrons gives the mass number of an atom.
Atoms with the same atomic number but different mass number are known as isotopes.

(a) Which of the following statement is always correct for a neutral atom?
(i) An atom has equal number of electrons & neutrons.
(i) Anatom has equal number of protons & neutrons.
(i) An atom has equal number of electrons & protons.
(iv) An atom has equal number of electrons, protons & neutrons.

(b) How many neutrons are present in the nucleus of Deuterium, Tritium & Protium?
(i) 1,2,0 (i) 2,1,0 (iij) 3,21 (iv) 2,2,0

(c) Theisotope used in the treatment of goitre is
(i} Co-60 (i) U-235 (iii) 1-131 (iv) C-14

(d) The number of electrons in an element X is 18 and the number of neutrons is 22. Which is the
correct representation of the eiement?

M ¥ x (il gg x (i) ‘;g x (iv) ‘2*3 x

18
OR
The atomic number of an element is 13 and its mass no. is 27. The correct order of electrons, protons
and neutrons respectively in this atom is

(i) 13,13,14 (i) 14, 13, 13 (i) 27,13, 13 (iv) 27, 14, 13
Contd...3
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Q.26

Q.27

Q.28

Q.29

Q.30

e
SECTION ~ C : BIOLOGY {20 MARKS)
What are vectors? Name the vector that transmits brain fever. (2)

Give reason: (2)
(a) Areolar tissue is a type of connective tissue.
(b) Antibiotics are not useful for viral diseases.

Differentiate between striated muscle, unstriated muscle and cardiac muscle on the basis of their
structure and function. (3)

It was diagnosed that the body of a patient has lost the power of fighting any infection. Mame the

disease the patient was suffering. Name the microbe causing the disease.

How does it spread from one person to another? (3)
OR

A person is suffering from chest pain, breathlessness, loss of body weight, persistent r-ough and blood

stained cough.

Name the disease the person is suffering from.

Name the causative organism.

How does it transmit from one person to another person?

Draw a well labelled diagram of a neuron. (3)

Health workers are exposed to more sick people than others in the community. Write any three
preventive measures they take to avoid sickness. (3)

Read the following QUestions and answer the questions given below :
A mother who had suffered from chicken pox in her childhood is now taking care of her child who is
suffering from the same disease. (4)

01. What are the chances of the mother having chicken pox? Explain.
02. Whatis vaccine?
03. What is the principle of immunisation?
04. Name the causative organism of chicken pox.
OR
05. Who produced the first vaccine?

B30 VWD
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DELHI PUBLIC SCHOOL, BHILAI

DATE : 03.03.2022 ANNUAL EXAMINATION 2021-22 ' ‘Time : 3 Hrs.
CLASS : IX SUBJECT — MATHEMATICS Max. Marks : 80
General Instructions :
» This Question Paper contains two parts, A and B.
» Both Part A and Part B have internal choices
PART A : It consists of two sections | and |l
e Section | has 16 questions of 1 Mark each. Internal choice is provided in 5 questions.
e Section Il has 4 questions on case study. Each case study has 5 case based sub parts.
e An examinee has to attempt any 4, out of 5 sub-parts.
PART B : Question Numbers 21 to 26 are very short answer type questions of 2 marks each.
e Questions Numbers 27 to 33 are short answer type questions of 3 marks each.
e Question Numbers 34 to 36 are long answer type questions of 5 marks each.;

e Internal Choice is provided in 2 questions of 2 marks, 2 questions of 3 marks and
1 question of 5 marks.

PART A
SECTON: 1

01. Find the value of a polynomial p(x) = x3 —2x2 + x + 2 atx =2
OR
" Find p(0)for p(x) = 10x — 4x% — 3

02. Find 2x in the following fig.

03. Inthe given figure, ABCD is a lI™. If £A = 65°, !
find the value of 2B + 4D. :

04. Find the product, using suitable identify
(3x + 2y) (9x? — 6xy + 4y?)
05. If the diagonals of a quadrilateral bisect each other at right angles, then what the
quadrilateral is called as ?
06. If the surface area of a Sphere is 2561 an?, then find the radius of the sphere.
07. Find the slant height of a conical tent, whose base radius is 24m and height is 10 m.
OR
What is the formula for finding the total surface area of a right circular cylinder ?
08. A cardis drawn from a well shuffled park of cards. What is the probability of obtaining a
face card ?
09. Whatis the degree of a constant polynomial ?
10. [f three angles of a quadrilateral are, 100° 75°and 105°, find the measure of Fourth angle.
11. What is the measure of an angle, inscribed in a semicircle ?
OR
In the given figure, AOB is a diameter and AC=BC.
Find 2CAB.

i
12. A box of 550 bulbs contains 22 defective bulbs. On
box. Find the probability of getting a good bulb.
Contd...2



ol 4]
13. The area of four walls of a cube (lateral surface area) is 324cm?. Find the side of the cube.
OR
in each side of a cube is doubled, find the new total surface area.
14. Inthe given figure find 2x. '

15.  Find the zero of the polynomial p(t) = 2t — g ;

| 16. if the probability of winning a game is 0.3, what is the probability of losing it?

| OR

s| A coin is tossed 500 times and we get head 285 times and tail 215 times. If a coin was

‘} tossed at random, find the probability of getting a tail.

SECTION - 1I

| Case Study (1)

| 17. Chikoo went to shop to purchase a child’s game. He selected one child’s game, which has 9
circular face cards, out of which 3 are blue and rest are red. There are 10 square face cards out
of which 5 are blue and rest are red. While checking the game, one face card is lost at random.

! (i) How many circular face cards are of red colour and how many square face cards are of
red colour?

| (a) 5,4 (b) 4,5 {c) 6,5 (d) 8,6

F (i) What is the probability that the lost face card is a square ?

5 9 10 9

. @< = @2 (d) =
| ‘ (ifi} Find the probability that the lost face card is a circle ?
| 9 10 9 4

(@) (b) = (c) 7 (d) 5
| {(iv) Find the probability that the lost face card is a square of blue colour ?
| (a) = (b) = (© 3 d =
5 19 19 3 18
| (v) Find the probability that, the lost face card is a circle of blue colour.
* 3 X Lk i
| (@) (b) (e) — (d)
Case Study (2)

18. Inthe middle of a city, there is a Ram Leela ground ABCD
1 such that AB=CD, AB || CD and AD=BC, AD | BC.
Municipality converted this ground into a rectangular
form AQCP and both the triangular shapes G i
. AAPD and ABQC of land were converted into flower beds. 77"
(i) What type of quadrilateral is ABCD.

(a) Square (b) rectangle (c) parallelogram (d} Rhombus
(ii) thevalue of LPDA is
j (a) 60° (b) 90°  (c) 50° (d) 180°
(iii) the value of ACQB is
| (a) 90° (b) 60°  (c) 30° (d) none of these
? (iv) PD is equal to which side ?
i {a) AB (b) QB (c) AD (d) €D
(v) AABC and ACDA are congruent by which criteria ?
(a) SSS (b) SAS  (c) RHS (d) both (a) and (b)

Contd...3




19.

20'

21.

22,

23,

ook 3
Case Study (3)
DPS Bhilai decided different types of tours for the students to educate them. So, in class IX,
f; times the square of total number of students planned to visit historical monuments, 1—72-

times the number of students planned to visit old age homes, while 15 students decided to
teach children of slum area.
(b} Using this information, express the total number of students as a polynomial, in terms
of x .
7x

x2 7 2 1 x2 7 x2 7
(a) " +Zx+ 12 (b) s +E+ 10x (c) °F +Ex+15, (d) er+1x+15

(ii) Write the coefficient of x in the polynomial.
9 7 11 13
(a) ) > = (d) 75
(iii} What is the degree of the polynomial ?
(a) 0 (b1 (c) 2 (d) 3
(iv) The name of the polynomial on the basis of its degree is
(a) Cubic Polynomial (b) Constant Polynomial
(c) Quadratic Polynomial (d) Bi-Quadratic Polynomial
(v} What is the constant term in this polynomial ?
(@) 7 (b) 5 (c) 10 (d) 15

Case Study (4)

A teacher drew two lines segments PQ and QR

so that PQ=8 cm and QR=6 cm. He asked all the

students to draw these lines in their note book

and draw a circle, passing through three points P, Q and R.

(1) One student drew PQ and QR as per the figure.
(2) Hedrew 1” bisectors OX and QY of the line segments PQ and QR.
(3) OXand QY intersects at O.
(4) Now, taking O as centre and OQ as radius, he draws a circle which passes through P,
Q andR.
(5) He noted that P, Q and R are collinear.
(i) What you will call the line POR

(a) Arc (b) diameter (c) Radius (d) Chord
(ii) The measure of ZPQR is

(a) 60° (b) 45° (c) 90° (d) 75°
(iii) What you will call the shaded portion PAQ ?

(a) arc (b) sector (c) Major Segment (d) Minor Segment
(iv) The radius of the circle is

(a) 5cm (b) 4 cm (c) 3cm (d) V5 cm
(v) What is the measure of PX ?

(a) 8cm (b) 6cm (c) 4cm (d) 3cm

PART B

Find the zeros of the following polynomial
p(x)=x2+3x+2
OR
Express the product without multiplying directly 104x96. ' Bp—o .

{wa]
e

In the given figure, ABCD is a parallelogram.
What is the sum of angles x,y and z ?

If the length of the chord AB is 16 ¢cm, and it is at the distance of
15 em. from the centre of the circle. Find the radius of the circle.

Contd...4




24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

B
A survey of 600 students about their liking on coffee was conducted and recorded as under:

Opinion Like | Dislike | Out of there students, one is chosen at random.
No. of Students | 360 | 240 What is the probability he chosen student ... 90 2L
(i) Likecoffee (i) Dislike coffee | X-
Construct a perpendicular bisector of line segment of length 7 cm. . /
OR

Construct an angle of 120° using compass.

A hemispherical bowl made of brass has inner diameter 10.5 cm. Find the cost of tin plating
it on the inside, at the rate of ¥ 13 per m?, S

A joker’s cap is in the form of a eight circular cone of base radius 7 cm and height 24 cm.
Find the area of the sheet required of make 10 such caps.

Construct a triangle ABC, in which BC=7 cm, £B = 70° and AB + AC = 13cm. (No
justification, No steps of construction)
OR
Construct a triangle ABC, in which BC=8 cm, £B = 45° and AB — AC = 3.5¢cm. No
justification, No steps of construction)
Factorize : x3 — 2x%2 — x + 2
OR
Identify the types of the following polynomial on the basis of their degrees -
(i) S
(i) 2x-3
(iii) 5x —3x% —4 4 2x3
(iv) 7x + 4x% — 9 — 4x?
(v) 2x*—5x3+4x*—-3x-2
(vi) 8x2-3
Show that the line segment joining the mid points of the opposite sides of a quadrilateral
bisect each other.
Two opposite angles of a ||" are (3x — 2) and (50 — x) :
Find the measure of each angle of the parallelogram. ‘

If two equal chords of a circle intersect within the circle,
prove that the line joining the point of intersection to the
centre makes equal, angles with the chords.

Three coins are tossed simultaneously 100 times with the following frequencies of different
outcomes.

Qutcomes | No head | One head | Two heads | Three heads

Frequency 14 38 36 12
What is the probability of getting '
(iy 3 heads (ii} more tails than heads (iii) No heads
If the non parallel sides of a trapezium are equal, prove that it is cyclic.
OR

Two circles intersect at two points B and C. Through B, two line |
segments ABD and PBQ are drawn to intersect
the circles at A, D and P, Q respectively.

Prove that LACP = £QCD.

fa+b+c=>5,andab + bc + ca =10,
then prove that a® + b® + ¢® — 3abc = —25.
It costs ¥ 2200 to pain the inner curved surface of a cylindrical vessel 10 m. deep. If the cost
of painting is at the rate of ¥ 20 per m2. find :-

(a) Inner curved surface area of the vessel.

(b) Radius of the base.

(c) Capacity of the vessel.
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